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! Missing number, treated as zero.
<to be read again> 
                   {
l.11 \pgfsetlinewidth{0,4pt}
                            %
? r
OK, entering \nonstopmode...
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.11 \pgfsetlinewidth{0,4pt}
                            %
! Missing number, treated as zero.
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %



! Missing number, treated as zero.
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.13 \pgfxyline(-5,01,0)(4,9896,0)
                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Missing number, treated as zero.
<to be read again> 



                   \global 
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Missing number, treated as zero.
<to be read again> 
                   {
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.15 \pgfpathmoveto{\pgfxy(4,8386,0,1143)}
                                          %

! Package PGF Math Error: Digit `9' invalid for base 8 (in '0029,0').

See the PGF Math package documentation for explanation.
Type  H <return>  for immediate help.
 ...                                              
                                                  
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Undefined control sequence.
<argument> \pgfmath@base@temp 
                              
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   <
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %

! Undefined control sequence.
 ...t process numbers in base `\pgfmath@base@temp 
                                                  '.\pgfutil@ifundefined {pg...
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}



                                                  %
! Package PGF Math Error: Cannot process numbers in base `'. (in '0029,0').

See the PGF Math package documentation for explanation.
Type  H <return>  for immediate help.
 ...                                              
                                                  
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Undefined control sequence.
\pgfmath@base ->\pgfmath@base@temp 
                                   
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \relax 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Undefined control sequence.
\pgfmath@base ->\pgfmath@base@temp 
                                   
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \relax 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Arithmetic overflow.
<to be read again> 
                   \relax 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Undefined control sequence.
\pgfmath@base ->\pgfmath@base@temp 
                                   
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \relax 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %

! Undefined control sequence.
\pgfmath@base ->\pgfmath@base@temp 
                                   
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Package PGF Math Error: Digit `5' invalid for base  (in '0029,0').



See the PGF Math package documentation for explanation.
Type  H <return>  for immediate help.
 ...                                              
                                                  
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Argument of \pgfmath@checknumber@ has an extra }.
<inserted text> 
                \par 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
Runaway argument?
\pgfmath@checkbase {\fi }\def \pgfmath@base {\fi }\def \pgfmath@base@macro \ETC
.
! Paragraph ended before \pgfmath@checknumber@ was complete.
<to be read again> 
                   \par 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Extra }, or forgotten \endgroup.
<recently read> }
                 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {



l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.16 ...0571)}{\pgfxy(4,9823,0)}{\pgfxy(5,0029,0)}
                                                  %



! Missing number, treated as zero.
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 



                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}



                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.17 ...y(4,8386,-0,0571)}{\pgfxy(4,8386,-0,1143)}
                                                  %
! Missing number, treated as zero.
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).



<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   \global 
l.20 \pgfxyline(-5,-0,1)(-5,0,1)
                                %
! Missing number, treated as zero.
<to be read again> 
                   {
l.21 \pgfxyline(-4,-0,1)(-4,0,1)
                                %
! Illegal unit of measure (pt inserted).
<to be read again> 
                   {



l.21 \pgfxyline(-4,-0,1)(-4,0,1)
                                %
(That makes 100 errors; please try again.)
!  ==> Fatal error occurred, no output PDF file produced!
Transcript written on cor_2_bijections.log.
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